Operaciones con Enteros (J)

Emplee una estrategia de enteros para encontrar cada respuesta.

(-21) x (-68) = (-12) x (-43) = (-84) x 36 =
(-13) x 62 = 74 - (-56) = (-41)- (-13) =
(-2150) + (-25) = (-12) x 9 = (-4958) + 74 =
50 - 70 = (-1581) + 51 = 37 x (-92) =
23+52= (-76) x 62 = (-71) + 19 =
(-62) - (-10) = 38-63 = 5529 + 97 =
15-(-38) = (-42) x (-52) = (-1) + 65 =

608 + 76 = 71 + (-93) = (-5865) = (-69) =
47-30 = 2145 + 33 = (-72) x (-99) =
26 x 54 = 20 x (-51) = 77 x (-64) =
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Operaciones con Enteros (J) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

(-21) x (-68) =
= 1428

(-13) x 62 =
= (-806)

(-2150) = (-25) =
= 86

50 - 70 =
= (-20)

23+52 =
=75

(-62) - (-10) =
= (-52)

15 - (-38) =
=53

608 + 76 =

(-12) x (-43) =
=516

74 - (-56) =
=130

(-12) x 9 =
=(-108)

(-1581) + 51 =
= (-31)

(-76) x 62 =
= (-4712)

38-63 =
= (-25)

(-42) x (-52) =
= 2184

71+ (-93) =
= (-22)

2145 + 33 =
=65

20 x (-51) =
=(-1020)

(-84) x 36 =
= (-3024)

(-41) - (-13) =
= (-28)

(-4958) + 74 =
= (-67)

37 x (-92) =
= (-3404)

(-71)+19 =
= (-52)

5529 +97 =
=57

(-1) + 65 =
= 64

(-5865) + (-69) =
= 85

(-72) x (-99) =
= 7128

77 x (-64) =
= (-4928)
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